5. %&T
(1) ERNEALOHERE (A D105 %)

Pt pr T FRelRy I 2
NENT | 4k
SEIX 23 SEIK] 23 SEIX 23
30 [EMEHAY 379.4 |EMEFT W 370.6 |FEMEHT AW 300.7
It | A 358.4 | MR AW 361.9 | MR AW 304.2
W | 2 |EHEEAD 377.8 [T ) 368.7 [T Y 306.6
3 |EMER A 369.2 [T AW 367.9 [HEMHT AW 310.7
4 [EMH A 353.3 | M AW 377.0 |FEMEHT A 316.1
30 | R (i i EPERRS) 196.7 |/ (i =P RS 209.2 [/ B (5 L FEPERRS) 167.6
gt | (s i EVERRS) 189.9 [\ AR (i E=PERRS) 202.0 L A (i i M FR<) 167.9
202 [ 2 PR (i EMEERS) 194.1 [\ Ga i EPERRS) 209.8 [/ A (5 i FEPERRS) 166.6
3[R R G i A BR <) 221.3 [\ (s i PEBRS) 217.2 OB (i M PERRS) 174.9
4 R G i EPERRS) 211.6 [\ (s i EBRS) 232.7 [ (5 L FEPERRS) 190.9
30 [E= 98.5 |fifizk 102.2 [&% 88.2
JC | A R 105.3 |JifiZk 100.8 | &% 98.5
3L | 2 | A R 97.9 | &= 101.4 [&3%= 107.3
3 |E= 127.1 |[#x% 127.2 |# % 123.8
4 |EE 141.6 | &%= 146.2 |# %% 147.1
30 | i A R R 96. 1 | b4 i 57 % 93.1 | b fm. 8 AR 87.1
I | 94.8 [fibd . & 9% i 98.0 [ . 7% B 86.1
Afr | 2 (EE 97.0 [/ibd .8 95 i 93.6 | b I 5 AR 83.5
3 | A 95.4 [Jibd .87 9% £ 92.5 | b i 9 AR 85.2
4 [ 9 106.2 | ifn. 72 32 £ 95.4 | Jixd 1fn. & % iR 88.1
30 |tz 88.1 [#= 86.6 |fiti 76.2
g Mg 93.9 [#= 94.3 [MifiZk 77.2
5L | 2 Wiz 91.7 |k 92.6 [zt 63.6
3 [z 67.9 [Mfizk 84.5 [fifiZk 59.6
4 |Wig 73.8 izt 86.2 [ifizk 60.7

28




PR TR} I EoiEs|
JENT | 5k
FEIA ZS BEIX] 23 FEIH ZS
30 [REDFEK 41.7 [FEmEME i Z% 43.3 | R DL 33.2
JC |REmEME A 7% 42.1 [FAmEME 2% 47 .4 [REEMEfiti 7% 32.6
6AL | 2 |FAMEMENTZE 49.3 [FAmEM: iZ¢ 46.9 |RRmEM: 2% 34.6
3 |REme it g% 44.6 |FRmEM: 2 51.0 RAmMEMENT 7 40.3
4 [REmEM:Z 53.1 [RAmEEfiliJ¢ 61.9 (RRMEMEfiTiZ¢ 45.9
30 [REAmEME 2% 39.7 | NEDFHL 41.7 (RAMHEME i Z¢ 31.0
gt | REDOE 40.5 [NEED L 37.3 | NEDFHL 31.7
L 2 | REDOIFK 46.0 | NE DKL 40.8 [ NEDHL 30.9
3 | NEOFE 41.7 | REDO L 37.5 [RIEDFH 31.2
4 [ REDFK 42.2 [NEEDHL 43.8 | REDFHL 35.6
30 |7 VNA= I 26.4 B R4 27.4 B RA 21.0
Tt |EAA 33.6 B A4 27.5 B A4 21.5
8L | 2 |7TAvig~—IF 32.1 |'BAR4 28.9 |'&E A4 21.8
3 TV~ 34.2 B4 29.2 | R4 23.4
4 TN 32.5 B A4 30.5 |B& A4 25.2
30 [BAA 24.8 |FVE MR R 19.7 & M DR ENIE 16.5
T T ANA = 29.6 |7 /Y A~ —T5 21.5 | & M5 DR ENIE 17.3
o | 2 |BA4 28.4 |7 YA~ —IF 22.6 |7 A~ —F 16.9
3 |BAE 28.3 |7V A~ T 25.2 |7V~ —f 18.7
4 |BAE 27.8 | 7Y NA~—IF5 22.6 |7V A~ —F 20.4
30 | REhfRAE M OV 20.4 | KBRS K OV 18.6 | % 16.1
JC | RENRAE M OV 20.2 | RENIRSES K OV 20.6 |7V A~ —F 16.8
1002 2 [ /& PR ORREE 23.4 | f B PR DO FRAVE 20.1 [ /& 15 O FRAE 16.9
3 | AE M O RRAE 26.3 | I8 15 OFRENIE 21.7 | A& 15 O FRAE 18.2
4 | RS O FEEE 23.6 | if. A5 P DR AE 21.9 (IS O FEHE 20.0

29




(2) FERIfl B BRI A7 FE T (M)

SEIKIff B 53 2R ﬁ BE IR fif B3 S
N it 3,451 %Y 49
Rk 2FEIR T vese] | 22 LI DT A4 ) I
A 7 1.802 I 48
Y1 57 Fetk 19
1000 |JEYLIE K OV A= HURE = 28 2113 T B OEMH Y B -
& 29 # 19
oy e 6 Kok 12
1100 5 SRS E 3 4 2114 PR BT AE ) B -
= 2 L’y 12
e E 2 [~ 28
1200 e 7 L 1 2115 RINEAROD EEVERT A U 28
28 1 58 -
Loe'e 1 e 26
1201 ISP e i 1% % - 2116 5 e o> A ST A= ) U 19
oy 1 LS 7
5y 1 e 7
1202 FDMOFERE 5 1 2117 FRAR AR R D BT AE ) L 4
LS - # 3
Y 26 Kk 13
1300 B ifn JiE L] 15 2118 =Y N E 5B 8
LS 11 58 5
1400 AV AFFSS L 2 2119 =Rk s 17
# 3 # 22
4 i ! DOV R, iR OB | X 8
1401 BRIY A VAR 5% z I 2120 g%ﬂ%&@%&%;ﬁ%L MR U 7,2 2
i 3 b 47
1402 CHIY A L Z [T 2% % 2 2121 DO BN EY) A 22
58 1 58 25
KK 1 W 32
1403 FOMDT AN ARFR B - 2200 ZDMOBAY 5 20
I 1 % 12
oy e = Y 4 6
1500 EMEERETVANAL HITI V ] i | B 2201 AR AR R D Z DD FT AW % 3
g = L’y 3
Wt 18 [ 26
1600 E DM DRYNE e ONF A i L 6 2202 AR R EBRSE DO AEY | B 17
i 12 e 9
BE 870 P R I g 14
2000 %& E crp@ % 470 3000 Eﬂ;ﬁﬁ&@m[ﬁlﬁﬁ@?ﬁ%ﬂf@kﬁ&%*ﬁ@ % 6
s 400 e s 8
oy e 838 Kk 6
2100 IR 3 450 3100 E=gii} L2l 2
'y 388 i 4
A o 21 ZOMO MR MBORBE TS | BX 5
2101 AIE. NPEROWRBHOIENEG AW | 5 11 3200 i A8 < 5.3 N
Loe'e 15 [0 50
2102 BE OB EY " 14 4000 |PNZ3H6, S o OMRaTE 2 = 20
oy 1 % 30
o8 77| oY 26
2103 B OEM Y 5 46 | 4100 B OR R s 1
4 31 % 16
i 87 M 24
2104 FERG O AT A ) 41 4200 ZDMDINGIU, Ho o OREHEE L) 10
Ly 46 e 14
ST ——— 7S 7 33 T 63
9105 gg?sbgﬁﬂﬁ@ﬁuﬁ&omﬁ@@ P i 5000 [ O BIOREE P 1o
T E ) 7 16 7 m
etk 64 otk 56
2106 JF e OV REAE 0 BT 2R ) B 40 5100 M M fe OFEREAS B OFBE1E L2l 15
e 24 i 41
oS R OEDMOREEDEER | ©X i : 1S /
2107 n e " 21 5200 Z DM DK R O TEh D L) 4
£ & 20 % 3
Loe'e 81 F7Y-% 133
2108 JEED TENE T A4 L 38 6000 | % R D P& B 5 36
oy 43 % 97
5y 3 Fv -
2109 WS D M BT A B 3 6100 B M K 5B =
i - S =
KK 159 Wt 6
2110 S8 KEXROROEEGAY | B 110 6200 6 A ZEMEE K OB EE B 5B 4
LS 49 L3 2
oe'e 9 Fve 19
2111 B & DI W) 5 5 6300 IN—F R 5 8
Ly 4 i 11

30




Y[R £ B 55 48 BE IR fif B3 S

7Y 77 Wk =
6400 T I NA I L 12 10300 BAMERE R 5B =
58 65 e _
e 31 732 37
6500 Z DM DI R DR = 12 10400 8 BAZEME i R R 2] 30
Z 19 'S 7
wEK = % 1
7000 |HR K OMtEER DR E 5 - 10500 TSN 5 -
o8 = '8 1
F2Y-% - e 22
8000 [E K& OVFLARZZE DT 5 - 10600 Z DD I g% DR B B 130
2 = LS 97
K 864 e 126
9000 |fEERER-RDEE R L2 412 10601 A fiti 2% 5 66
s 452 “ 60
Mgk 20 s 53
9100 e I JE PR R 5 11 10602 MV PRI 28 5 36
I 9 oy 17
E 13 G B 77 R 48
9101 0 LR D 8 OO R [ 71 | 10603 COMDIER R OPR (10601, Ty 28
" 6 10603p#:<) X 20
B 7 I 136
9102 F DA, 15 1 T R B B 4 11000 |YE1{L2R DI 7 65
LS 3 % 71
etk 502 Y8 3
9200 DLy R (7R I EPE AR 5 234 11100 H&5 & O —fe s B 2
Ly 268 % 1
v 10 e 20
9201 1Y o~ TP LR R % 3 11200 ~IL=T K OV ZE B 8
oy 7 58 12
F7Y" 86 e 35
9202 AR ZE 0 52 11300 FFR BB B 21
34 . 4 14
F2e 38 AR T 16
9203 OO LR B 17 11301 ; E 7
58 21 ] iy 9
W 21 1 E DO Fo¥Eq 19
9204 18RV o~ TP P B FR %5 9 11302 ] 5 14
i 12 ] 5
E7Y7 10 e 78
9205 CMRIE Ui 6 11400 ZOMD I LERR DR B 34
L8 4 e 44
Wk 80 DI 7
9206 TRHKR My DM i e U 40 12000 | 52 & Mo OV T AERR D IR B L 2
% 40 i d 5
v 243 W 26
9207 R4 ) 100 13000 |f5E#& K OV ARk D7 2 L) 11
Ly 143 o 15
EoE 14 WK 108
9208 F DD DR R 5 7 14000 | R K ASFH AR R D PR & L 47
= 7 % 61
etk 252 Y8 16
9300 i = % 119 14100 RERMBE B L OB IRMEREEESR | B 1
I 133 % 15
Bov e 34 e 66
9301 SHIE T H i %5 10 14200 B R e B 35
Ly 24 # 31
Y8 77 Vg 4
9302 4 P H Ui 40 14201 FoN ek SN 5 2
L8 37 Loy 2
Ktk 137 Kk 50
9303 AbiAE 2E 5 68 14202 & PER A4 Ll 31
7 69 2y 19
e 4 fioee 12
9304 Z DAt oD i 1 B PR R % 1 14203 G R NG Tl o N B 2
I 3 % 10
e 65 e 26
9400 KBRS B OV Hife 5B 36 14300 T DO R EE A SRR D PR BB 5 11
% 29 . 15
T8 25 B -
9500 TOMOIEERER R DI L] 12 15000 |4EHR, 438k & OVEL &< = -
= 13 e =
282 440 g 1
10000 |IEIR 25 R D & = 261 16000 | /& EERAIC T A L=k e L) 1
2§ 179 4 -
K - = NYNTOER— = | R -
10100 T T oy - 16100 gﬁ)&ﬂ;ﬁ e OB R B I B -5 e -

s = = S
(7Y% 175 7Y -
10200 fiiide 2 101 16200 HPESME 5B =
LS 74 2 =

31




Y[R £ B 55 48 Y[R £ B 55 48
BN MO PO E S L, | R [ w7 2
16300 %ﬂ%g Sl AR B 22000 | K65k B B = —F 'y e
%j%( : ﬁ 47
16400 | | PESN 4 B 70 IR Y e B - | 2200 | |EIESPERREEREE[SARS] 9‘3%( :
& : A -
HAIE&U%QEIB@ Jﬂl'i m% \‘Jﬂl ;’;ﬁﬁ = ("/’-‘\‘ﬁ 82
16500 {{;E%% Y2 i P e OF L) - 22200 ZOMOFFER BT —R 5 35
é& = 2 47
16600 Z DD JE FEHNT I A LTS RE 5‘3 =
ﬁ- —
- \ e 2
17000 S R&EH ., &k QG ik i B =
s 2
) Mgk 1
17100 TSR D e KA T ) =
s 1
K -
17200 BB AR DY R AT L =
ﬁ —
o Keix -
17201 DD S KA B -
ﬁ‘ —
Keix -
17202 F DM DTGB AR D FE KA " -
ﬁ- —
Nl o, {ﬁ%\‘& !
17300 VAL ERZ D RETE B -
s 1
\ R =
17400 T OMD I RAHE e OVEH 5B
(ﬁ‘ﬁ —
00 | |memEs ucamsnacbD | B -
ﬁ” —
AR, MO0 B O A BRI AT C | ok 125
18000 L 1 oy Az b 0 % 126
4 299
— wF 336
18100 e 5 73
s 263
) 7Y =
18200 L4 S SR FEIE G 5 -
ﬁ —
o | EotosER, sr o [ ©R o
BRI L CHIIC A S LA b D ;‘3 o
7y 173
20000 |f&95 K OBE L= DAMA L 11
s 63
etk 100
20100 RIE DL 3 57
s 43
o oS 11
20101 A EH % 7
4 4
B o Y8 28
20102 AR - A8 - BRIV % 14
4 14
] . KK 22
20103 RIEDWHHE K O35 /K % 10
S 12
e 15
20104 REDZEE % 6
e 9
oY 1
20105 JE K OVK R~ DR FE 5 -
£ 1
AT R IEO TR O | R :
20106 gmi@)g% HREOHBLOHE | T ,
£ 1
E 20
20107 F DDA JE DL % 18
4 2
TeE 40
20200 H 2% B 34
tg 6
20300 iR i‘? :
ﬁ —
7Y 33
20400 Z DAt DA B 19
s 14

32




(3) HLIRFECTH(H#ER- HEmB) (HAT: A)

ERADEN il

TR 5 LS
H s - H s 1 1 0
24MRE [ A 0 0 0
ISR ERT | 0 0 0
LA LA 4B AT 1 1 0
GELL 24 F A 0 0 0
24 H UL B34 H A 0 0 0
37 A L B4y A K 0 0 0
42 A LA 52 H Al 0 0 0
54 H UL E64 H A 0 0 0
64 A LL BT A K 0 0 0
7 A LA B8 A A 0 0 0
8 A LA E94 H ATl 0 0 0
94 H UL 102 A A 0 0 0
10 A LL_E117 A A 0 0 0
117 A LA B 1RAS 0 0 0

33




